

$$f(f(x_1)) = f(x^2 + \sin x) =$$

$$(x^2 + \sin x)^2 + \sin(x^2 + \sin x)$$

$$(x^2 + \sin x)^2 + \sin(x^2 + \sin x)$$

$$f(g(x_1)) = f(g(x_1)) \cdot g(x_1)$$

$$\frac{dy}{dx} = \frac{dy}{dy} \cdot \frac{dy}{dx} + \frac{dy}{dx}$$

$$\frac{dy}{dx} = \frac{dy}{dy} \cdot \frac{dy}{dx} + \frac{dy}{dx}$$

$$(x_1) = (2x+1)^{q}$$

$$\frac{dy}{dx} = \frac{dy}{dx} \cdot \frac{dy}{dx} + \frac{dy}{dx}$$

$$\frac{dy}{dx} = \frac{dy}{dx} \cdot \frac{dy}{dx} + \frac{dy}{dx}$$

$$(2x+1)^{q} = \frac{qq}{y} \cdot 2 = 198 (2x+1)$$

$$(2x+1)^2 = \frac{dx^2}{dx} + \frac{qx+1}{dx}$$

if we were to find (2x+1), it would be 100 terms, almost impossible to calculate. see the last page. This calculation is done using Maple Scanned by CamScanner

 $(f(g(x))) = f'(g(x)) \cdot g'(x))$ derivative of Inner Func. derivative of outer func evaluted at Inner Function. 99y(x) = (2x+1)98 198 (2X+1) 98 y'(x) = qq(2x+1) 2 $U = 13x^2 - 5x + 8$ $y = f(x) = \sqrt{(3x^2 - 5x + 8)}$ y = 14 $\frac{dy}{dx} = \frac{dy}{dv} \cdot \frac{dv}{dx} =$ 26x-5 $\frac{1}{2\sqrt{4}}$, (26x - 5) = 2. J 13x 2-5x+8 der. outer func. evaluated. derivative of Inner function at innerfunc 26× -5 2 13x 25x+8

$$f(x) = \int in(Sx) \Rightarrow$$

$$f(x) = 5 (os(Sx))$$

$$f(x) = \int in(s|n(x^{2}))$$

$$f(x) = (2x)(5 \frac{1}{2}) (os(s|n(x^{2})) = \frac{10}{x} (os(s|n(x^{2})))$$
or more clearly, we could first simplify (x) and then differentiate.
$$f(x) = \int in(10 \ln (x))$$

$$f(x) = \int in(10 \ln (x))$$

$$f(x) = \int in(x) = \int in(x) + \int in(x)$$

$$f(x) = \int e^{2} \sqrt{x} \cdot (\frac{1}{2\sqrt{x}}) = \int e^{2} \sqrt{x}$$

$$f(x) = \int e^{2} \sqrt{x} \cdot e^{\tan x} \cdot (os(e^{\tan x})) = \frac{1}{2} \sqrt{sin(e^{\tan x})}$$



$$\frac{1}{\sqrt{2\pi}} e^{-x^{2}} (4x^{2}-2) \rightarrow 0 e^{x}$$

$$\frac{1}{\sqrt{2\pi}} e^{-x^{2}} (4x^{2}-2) \rightarrow 0 = 0 e^{x}$$

$$4x^{2}-2 \rightarrow 0 = 0 x^{2} \rightarrow \frac{1}{2} \rightarrow 0$$

$$4x^{2} \rightarrow 2 = 0 x^{2} \rightarrow \frac{1}{2} \rightarrow 0$$

$$\sqrt{x^{2}} = |x| \rightarrow \sqrt{\frac{1}{2}} \rightarrow x \rightarrow \sqrt{\frac{1}{2}}$$

$$\frac{x^{2}+y^{2}}{x^{2}} = |x| \rightarrow \sqrt{\frac{1}{2}} \rightarrow x \rightarrow \sqrt{\frac{1}{2}}$$

$$\frac{x^{2}+y^{2}}{x^{2}} = |x| \rightarrow \sqrt{\frac{1}{2}} \rightarrow x \rightarrow \sqrt{\frac{1}{2}}$$

$$\frac{x^{2}+y^{2}}{x^{2}} = |x| \rightarrow \sqrt{\frac{1}{2}} \rightarrow x \rightarrow \sqrt{\frac{1}{2}}$$

$$\frac{x^{2}+y^{2}}{x^{2}} = |x| \rightarrow \sqrt{\frac{1}{2}} \rightarrow x \rightarrow \sqrt{\frac{1}{2}}$$

$$\frac{x^{2}+y^{2}}{x^{2}} = |x| \rightarrow \sqrt{\frac{1}{2}} \rightarrow x \rightarrow \sqrt{\frac{1}{2}}$$

$$\frac{x^{2}+y^{2}}{x^{2}} = |x| \rightarrow \sqrt{\frac{1}{2}} \rightarrow x \rightarrow \sqrt{\frac{1}{2}} \rightarrow x \rightarrow \sqrt{\frac{1}{2}}$$

$$\frac{x^{2}+y^{2}}{x^{2}} = |x| \rightarrow \sqrt{\frac{1}{2}} \rightarrow \sqrt$$

Slope of toingaut line
$$-2 \frac{\sqrt{2}}{2}$$

at $x = \frac{\sqrt{2}}{2}$
 $= \frac{-\sqrt{2}}{2\sqrt{1-\frac{1}{2}}} = \frac{-\sqrt{2}}{2\sqrt{\frac{1}{2}}} = -\frac{\sqrt{2}}{2\sqrt{\frac{1}{2}}} = -\frac{\sqrt{2}}{2\sqrt{\frac{1}{2}}}$
 $y = \sqrt{1-\frac{1}{2}} = \frac{-\sqrt{2}}{2\sqrt{\frac{1}{2}}} = -\frac{\sqrt{2}}{\sqrt{\frac{1}{2}}} = -\frac{\sqrt{2}}{\sqrt{\frac{1}{2}}}$
 $y = \sqrt{1-\frac{1}{2}} = \sqrt{\frac{1}{2}} = \frac{-\sqrt{2}}{\sqrt{\frac{1}{2}}} = \sqrt{\frac{1}{2}} = \frac{1}{\sqrt{\frac{1}{2}}}$
 $(\frac{1}{\sqrt{2}}, \frac{1}{\sqrt{2}}) \rightarrow y = \sqrt{1-(\frac{1}{\sqrt{2}})^2} = \sqrt{\frac{1}{2}} = \frac{1}{\sqrt{\frac{1}{2}}}$
 $(\frac{1}{\sqrt{2}}, \frac{1}{\sqrt{\frac{1}{2}}}) \rightarrow z = \sqrt{2} = \frac{1}{\sqrt{\frac{1}{2}}}$
 $y = -X + \frac{1}{\sqrt{\frac{1}{2}}} + \frac{1}{\sqrt{2}} = -X + \frac{2}{\sqrt{\frac{1}{2}}} = -X + \frac{2}{\sqrt{\frac{1}{2}}} = -X + \frac{2}{\sqrt{\frac{1}{2}}} = -X + \frac{1}{\sqrt{\frac{1}{2}}} = -$

This agrees well with our geometry course. In geometry, we know radius is always perpendicular to the circle. in this case, y=x is the radius of the circle that is passing through (1/sqrt(2), 1/sqrt(2)).

Implicit differentiation. $x^{2}+y^{2}=1$ y is give Implicitly as a function of X χ^{2} + $(y(x))^{2}$ = 1 $(\chi^{2} + (Y(\chi))^{2})' = (1)' = 0$ $(X^{2})' + ((Y_{(X)})^{2})' = 0$ + 2 4(x). 4'(x) 2 X $\frac{d}{dx}\left(x^{2}+(y(x))^{2}\right) = \frac{d}{dx} = 0$ $\frac{d}{dx}(x^2) + \frac{d}{dx}((y(x))^2) = 0$ $2x + 2y \cdot y' = 0$ $2yy' = -2x \longrightarrow y' = \frac{-2x}{2y} = \frac{-x}{y}$

Generalized differentiation. $\frac{d}{dx}(f(x)) = n \cdot f(x) \cdot f(x)$ $\frac{d}{dx}\left(Sin(f(x))\right) = Cos(f(x)) \cdot f'(x)$ $\frac{d}{dx}(e^{f(x)}) = e^{f(x)} \cdot f'(x)$ $\frac{d}{dx}\left(\ln(f(x))\right) = \frac{1}{f(x)} \cdot \frac{f(x)}{f(x)}$ $\frac{d}{dx}\left(\sqrt[n]{f(x)}\right) = \frac{d}{dx}\left((f(x))^{\frac{1}{n}}\right) = \frac{1}{n} f(x) \cdot f(x)$ $x^{4} + xy^{3} + yx^{3} = 1$ $\frac{d}{dx}\left(x^{4} + xy^{3} + yx^{3}\right) = \frac{d}{dx}\left(1\right) = 0$ $\frac{d}{dx}(x^{4})_{+} \frac{d}{dx}(xy^{3})_{+} \frac{d}{dx}(yx^{3}) = 0$ $\frac{dx}{dx} = 0$ $\frac{d}{dx} = 0$

 $4x^{3} + 1 \cdot y^{3} + x(3y^{2}y') + y'x^{3} + y(3x^{2}) = 0$ $y'(3x^{2} + x^{3}) = -(4x^{3} + y^{3} + 3yx^{2})$ $y' = -\frac{4(x^3+y^3+3yx^2)}{3xy^2+x^3}$ ST ST TOTT VER LISX-IV P